_'%.f;%.,_::?.@_ Nandyal Banking Coaching Center, NGO’s Colony, NANDYAL

NBCGC Mobile No: 7416206879

1. Two trains, A and B, cross a 90 m long platform in 10 seconds and 12

seconds, respectively. If lengths of trains A and B are 210 m and 180 m

respectively, then find the ratio of speed of train A to that of train B?
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Answers (7. Time and Distance-Trains- Boats and Strams

Home work)

1 14]/2113{41|3|61{4|81 |3 1012|1211
2 |2(223|42(2|/62|5]82 |5 10214122 |4
3 |3|2312]43[3{63{3}83 {2 103[3(123|1
4 (2124121441116412184 |1 10411]124|4
5 |1]25]3[45/5|65(4|85 |2 105(2(125|4
6 |1{26/2|46(4/66|/1/86 |4 1063|1263
[ |1|27/2/47(1167|3187 |1 107(5]127)2
8 [3]/28]/2]/48/1/68|3|88 |4 1083|128 |5
9 [3129|2|49(2(69|2|89 |5 109 |4|129 |3
10(2/30(2|50/4|70{1{90 |4 1105|1305
1112(31|3|51|5|{71{5(91 |3 11115
1213[32|3|52|1(72|1]{92 |2 1122
1312133|4|53|5(73|2]93 |1 1131
1413|34|1|54|5|7412(94 |4 114 | 4
1513]35|1|55|5[75[4|95 |3 115|595
16[(1/36|3|56/3]|76/5[96 |5 116|3
172373573 77|2|97. |4 1173
18]2/38|3|58(2|7813{98 |2 1183
1912139/2]59(4[7914]199 |2 11914
2012|4012]160[2/80(5/100]| 2 120} 3




